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Distributive Property of Multiplication

The distributive property allows us to simplify an expression by taking out the
parentheses.

Distributive Property

1. Multiply the term just outside the brackets by every term inside of the brackets.
A \y
b(a+y) = ba»kgj
7w )
b(a-vy)= ba. -—bj
X
-bla+y):= —bca—éﬂ

Y

-@Y) = —-ba -l—bj

1) 2(4x — 2)
bx +3 8x -4
s A S
Za(5a +3) —5(10b — 6)
__,20“_ ,{2_ -—SOB-}—SO

Secondary 2 1 Lesson 6



Name:

Practice:

Simplify the following expressions

—(4a + 43)
—ta -3
N A

3(4a+b) — (da — 3b+ 4)
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